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37

“| Numbers are 1%, 22, 3%, 4%, 5%, 6% 7°.

2

So, the next number is 8’ =64.

38

By the rule of alligation: o
Cost of 1 kg pulses of 1* kindCost of 1 kg pulses of 2™ kind -
Rs. 15 Mean - ) . Price Rs. 20
3.50 Rs. 16.50 ’ 1.50
. Required rate =3.50: 1.50=7 : 3.

39

Since the number is greater than the number obtamed on reversing the dxgxts, so the
ten's digit is greater than the unit's digit. '

‘| Let ten's and unit's digits be 2x and x respectively.

Then, (10 x 2x + x) - (10x + 2x) = 36

=9%x =36

= x=4. . .
Required difference = (2¥+x) - (2x-x)=2x=8.

40

50.

41A _|#2¢ |#3D |44D |45 [46C [47D  [48D [a9.c |
51.A '

52-

: (112x5)—‘112 (

10\* 112x104 1120000

33

Each of the numbers except 72 is a perfect square.

54

Let their investments-be Rs. x for 14 months, Rs.yfor 8 months and Rs zfor 7
months respectively.

Then, 14x:8y:7z=5:7:8.
14x 5 49
Now, 5 8y =7 S8 x=40yy= 20%

14 2 16
And,;f%@nzx 352@2—%)(— S x.
16

.'.‘x:y:z=x_:%x:‘3"x=20-:49:64.

55

Sp::ed = (45 3% %) m/sgc = (22‘5") m/sec.
Time = 30 sec.
Let the length of bridge be x metres.
130+x 25
o302
= 2(130 + x) = 750
:5 x=245m.

56

1 NS
B's 10 day's work = (ISX 10)=3

i 2)_1
Remaining work = (1 - 3) =3
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1
Now, 18 work is done by A in 1 day.

1 1
"~ 3 = work is done by A in (18 X ) 6 days.

157 |B 58.D s5oc _ |60D |61.D |62D [63D|64C|65C|66A
67. D 68.C 69.A ;
70 . |B.. 20% of the total funds to be arranged = Rs. (20% of 57600) crores
' : =Rs. 11520 crores
22 Rs. 11486 crores.
‘| Rs. 11486 crores is the amount of funds to be arranged through External Assistance.
71 C. Shortage of ~ funds  arranged :
: through External Assistance B Rs. (11486 - 9695)grores
=Rs. 1791 crores.
" Increase required in Market, Borrowingi= Rs. 1791 crores.
: 1
Percentage increase required = (2199952 X 100) % = 5.98% = 6%.
72 C. Amount permitted = (Funds required from Toll for projects of Phase II) +
(10% of these funds)

= Rs. 4910 crores + Rs. (10% of 4910) crores

= Rs. (4910 +491) crores '

= Rs. 5401 crores. °
7 C. ; ' 299

2 ' Central angle corresponding to Market Borrowing = (57 6(5)(2) X 360°) =187.2°"
74 |B. e 4910 1 1°
equlre ratio =500, =61~6

75 The figure may be labelled as shown.

A-& 1@ D

I 3. K L :
The simplest [|gms are ABFE, BCGF, CDHG, EFJI FGKJ and GHLK. These are 6 in
number.

The parallelograms composed of two components each are ACGE, BDHF, EGKI
FHLJ, ABJI, BCKJ and CDLK. Thus, there are 7 such parallelograms.

The parallelograms composed of three components each are ADHE and EHLI ie.2in

- | number.

The parallelograms composed of four components each are ACKI and BDLJ i.e. 2 in
number
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There is only one parallelogram composed of six components, namely ADLI.
Thus, there are 6 + 7 + 2 + 2+ 1 = 18 parallelograms in the figure.

76 |C 77.A 78A  [79.A]80.C|81.A [82B [83A [84D [85.A

86. C 87.D 88. A _

89 D. Only fig. (4) contains two circles while all other figures have only one circle.

90 C. The number 2 is common to both the figures. We assume the parallelepiped in fig.
(ii) to be rotated so that 2 appears at the same-position as in fig. (i) i.e. on the RHS
face and the numbers 6 and 3 move to the faces hidden behind the numbers 1 and 5
respectively [in fig. (i)]. Then, the combined figure will have 1 opposite 6 and 5
opposite 3. Thus, when 3 will be on the top, then 5 will appear at the bottom. _

91 C. In fig. (X), one of the dots lies in the square alone, another dot lies in the region
common to the square and the triangle only and the third dot lies in the region|
common to the circle and the triangle. In fig: (1), there is no region which lies in the
square alone. In each of the figures (2) and (4), there is no region common to the

_ circle and the triangle only. Only, fig. (3) consists of all the three types of regions.

92 A. 1, 6, 9 are figures which are half shaded by slanting lines.

2,4, 7 are all divided into equal parts (either three or four parts) by straight lines and
also have a black circle at the centre. . '
3, 5, 8 have similar designs and have their four corners shaded black.

93 [D 94.B los.c - [96.B

97 D. In each row, the second figure forms the innermost and the outermost elements of the
third figure and the first figure forms the middle element of the third figure.

98 B. ] e et | A

: : i e ° §
The symbols move in the orders Le2==2] and LE=—2* altemately Also, the symbol
at the encircled position is replaced by a new one in each step.

99 C. In each step, element at the upper-right position gets enlarged, inverts vertically and
reaches the lower-left corner; the existing element at the lower-left position, is lost
and a new small element appears at the upper-right position.

100 |D

Japan (STTaTen : _

- S9! Ufted AW e o “fem” 91, STeeht 37l FEea Sun origin B | ,

- mmwwqﬁmmmmmw -
“gfge ferzor & sgee! dfecll 9o S WS | ' ol

- S YIS SERRAT ST Toh Y A B SRl Wil gl TR ¥hUS $000 g,
A T B A, B, R Y g AwE E 7%:;

-+ SO Hatee e HSee s (390% f) ot L AN

- B ST SHEHE U 93 IS B B L=t fL

mwmmmm SeaofJapan g =1 .
-WPamﬂcngsofFueﬁ%ﬂﬁﬁaww mezmaﬁaﬁm

' eﬁmaa"rqém

<
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A e TR FEE TURRE @ fawd ghiet Fen a1 wafer S

HfEaTeEe TS TR TEIREHes fHamr 9 s |

qJFs |
S Fiearaia wengs T favemar ‘e’ vfmsi

SIuTeTN GRICA @iraet (Abolishment of Slavery)

1% a1 i o) | o aRlieER! TRt T 9%,99% ol | Sreert g sraen fra fordh :

jﬁammgmm VT, T‘aa 9859 HfET ¥ ﬁw%mm@@mm
I

mwmmmm G
FTEEHIEHR S AU SRGEEES! Hel 19 m%fwﬁrgaméamm(xmowr)ﬁ

v@mﬁémwaﬁmfﬁaﬁmmmmmmwﬁﬂm
TR ST SBTai! fad Tahel,
93 e vy iR U5 TIRIETEE S SIS a1 W3 IS JSaIel QI SR Sed &,

_ a@aﬁmmmmm@mmmmm =R T JETR I

SIRg,
g@éﬂm@%ﬁﬁm@mmmwﬁwﬁaﬁmm
T St A PR S g i ¥ TE ga SR T g |

FHREREE AR g ® ol- T HAN o SR wfgfd Hea & qRol-Afwusnt o | Fwen wf
3%,90,000]- wmfw.mmmmmmﬁ@ammwwm.

Rainbow Trout (Soaufl 3RieT D

°

wmﬁmmmﬁ&wﬁw
2 90° 3fg 30° AN FTH IR TTH T FE I HFRED |

: mﬁmwm%m%ﬁ@alwmﬁwﬁmwwmx

TSR HISTHT mmm@faﬁnﬁgﬁ@a@z)mﬁmwmﬁa@fwmm%w 3R
o] SEETS fomnl & e o

- YA T e feeeens @m@mmiﬁhmwm Qﬂmﬁ@%s

mﬁmwwmﬁmmﬂ@m
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OO

AT 92 B ARIDI i1 Answer Key

L 1®@OCD |26 (A®OCD|5L | ®®OD|76 | A®O®
2 |®®O0D®|27. | @®OD®| 52 [O®O®|77. |®@®OO
3. O®O0OD |28 [(AB®OD|53. |O®OD®|78. | ®A®OD
4 OO0 |29 [(AB®OD| 4 | A®OD |1 [A®OD®
5 |@®O®@ |30 [(AB®OD®| 55 |O®OD®| 8. | A®OO®
{6 |[®®O® |31 [®H®OD| 56 | A®OD 8. | ®A®O®
7. |®@®O® |32 |®O®OD®|57- | ®®OD| 82 | ®®O®
8. |[®®OD® |33 |O®OD |58 |O®OD| 8 | O®OD
% |®®O0D |4 [A®OD®| M |®A®OD| 4 [(A®OD
10.  ®BAOO |35 [A®OD| 6. | AE®OD| 8. | A®O®
1. 1O |36 |[AEOD| 6. | ®®OD |8 [A®EO®
2.  ®B®OD |37 (B®OD®| 62 |A®OD |87 | O®OO®
1B |®®OCD [ 38 |OB®OD| 6. | O®OD |88 | AB®OO®
4 (A®OD |39 (A®OD| . |O®OD®|%9. OO
15 OO0 |40 [(A®OD®| 65 |A®OD | % | ®®O®
16. |®®O0 |4 |®@®OCO| 66. |[®®OD| 9. |®B®OD®
17. | @B®O0 |42 | B®OD | 67. | ABOD| 92 EAB®OO®
8. 1®00 |43 |®®O0D®| 8 | @®O0®| % A®O0OO
19. |(ABOD | 4 [OB®OD®| 6. | AB®OD | % | ®A®OD®
2. [AO®OD |45 |®®OO| . [A®O®]| % |®®O®
2. |(A®O® |46 |B®OD| 7. | A®OD| % | AB®O®
2 (O®O0 [(47. |A®ODO| 2.  ®®OD®| 9. | G®O®
23. |[@B®OD |48 |[A®ODO| 7. | AEOD| % | ABOO®
U OO0 (4 (@B®OD| 4 |[®®OD| % | A®OO®
25. 50. [®OO®| 5. | @EOD | 190.| @®O®
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SId[olT UZolltR AT : 93 (Set 13)

TS T ah Y R T

1. wwmﬁwﬁimmfﬁ%nﬁﬁwr@m%mﬁ@@a
2. T SIS TIER TR TS WIS GHHHS TSiE TR 0

3. e S HavRT 3 BT OR 9EfE 8

A 1,2137fH B 1B 33
©C.. 213few, 1 3w i D. 1f3®, 2133
TTeRT WAReH! T forR TR -

1. A9 T Ay gfemtes mﬁ%&i@m@?ommﬁﬁmmmn@al
2. U] ThETE TS Aol T %50 1 T gfgaen) TS g woor e forg )
3. feEme TRt Marshal Varoshilov & T 9%&R BT Ui 9o e forg |
4. R TR ST T Fe F R d

AR AR TS/ 82 : . :
A 1T29F B. 2% 3WH C. 3tEm," D. 13490
TR THE R A el P hree v SR SR TR

R - EER

a. et 1. i@

b. U 2. fead

c YA 3. fHgeh

d. wifeesw 4. I

FE a b c d

A 4 3 2 1

B. 3 4 1 2

C. 3. 4 2 1

D. 4 3 1 2

TETeh! HA SIS e B , ,

A. fava amaEt feaw — J7 ¢ B. favawmgsfeas —» s

C. famamismfrsfag -9y - D. Tava wooneff fegg —» 9 R
IfE BREAKTHROUGH &€ EAOUHRBRGHKT &f@=5 s DISTRIBUTION & & 2 ?
A. TISTBUONDIRI B. STTIBUONRIDI C. RISTTIBUDION D. ISPTRIUBOTION
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11.
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qfd, Tl T Sheee sreaeh i oY At Sl SR [0 = R mtaamxaﬁmm

20 30 o ol P R ST SR e e 2

The average age of husband, wife and their child 3 years ago was 27 years and that of wife
and the child 5 years ago was 20 years. The present age of the husband is:

A. 35 years B. 40 years C. 50 years ~ D. None of these
42+62=8, 63+73=12, 75+86=? =
A. 4 B:. 5 - : C. 6 DT

R TR |1 TSF R mamz@mﬁmﬁwmmimm'
T TSI T HI B & G A, 2

39 persons can repair a road in 12 days, working 5 hours a day. In how many days will 30
persons, working 6 hours a day, complete the work?

A. 10 B. 13 C. 14 D. 15
mmmzmmmmmm :
E9 : TER
a. 9 ' 1. Maraca assamensis
b. EH TR S 2. Maris Pentadactyla
c. BV 3.  Aicurus Fulgens
d  Tdrme 4.  Ursus arctos
S a -b.e¢ d
A. 4 3 2 1
B. 2 1 4 3
C. 2" 1 3 4
D. 1 2 4 3
WEITEE Hﬁammmmwmﬂ@m
TEI wE 1 |
i 1. S-wagee ufga frgs
g 2. e U g
T 4. NN TG TFSg AR
P '

%) al,b2,c3,d4 @ a4,b3,cl,d2 . M a4,b2,c3,dl ) a2,b3,c4,dl
TEY () TR R (A R W) 1 el Hesgerd I Hreare ¥t S e THer |

w9 'EF{G?‘
a.  dEfer 1. Hieen Heged
b. IEE 2. USRI e

c. HEEH 3.  TOHl SArEIaeh! aHEe
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IS a b ¢

A. 3 1 2

B. 2 3 1

C. 3 2 1

D. - "1 2 3

12. WEIVEEI mmmzmmmmmv

EI Rl

a IR TH 1. IR

b. TER _ 2. efts 3f=e

c. uf=fas wafa- 3. ui.fe=s :
d. 'srgﬁaw 4. fTafemm Imes=

g g - b E Eed

A. 4- 3 2 1

B. 4 3 1 2

s . SRl SN 2

D. 3 4 2 1

_ Question No. ( 13-17) based on the following passage:
Three-fourths of the surface of our planet is covered by the sea, which both separates and unites the
various races of mankind, the sea is the great highway along which man may journey at his will, the -
great road that has no walls or hedges hemming it in, and that nobody has to keep it in good repair .
with the aid of pickaxes and barrels of tar and.steamrollers. The sea appeals to man's love of the perilous
and the unknown, to this love of conquest his love of knowledge, and his love of gold. It's green, grey,
blue and purple water calls to him and bid him fare fort in quest of fresh fields. Beyond their horizon he
~has found danger and death, glory and gain. s
In some great continents such as America and Australia, there are towns and wllages many "
thousands of miles from the coast, whose children have never seen or heard — or felt — the waves of
the sea. But in the British Isles it is nowhere much more than a hundred miles from the most inland spot.
The love of the sea is in the very blood of the British people. '
Comprehension Questions:
13.  How much of our planet is not covered by the sea? .
A.  Three-fourth of the planet T B. One-fourth of the planet
C. Half of the planet D. More than one can measure
14. In what way does the sea appeal to man?
A. It invites man to amass gold hidden under the sea water.
B. It helps man take lessons from the perilous waves and stay at home.
_C. It bids man to venture out in quest of new places.
D. It makes mah wax eloqueiit about the futility of adventurous deeds.
15. The children have not responded to the call of the sea-
A. Inremote towns and villages of America’
B. In Great Britain
C. InNepal
™

Yon ‘Feniain



16.

17.

18.

19.

20.

21

22.

23.

24.

25¢
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* The sea has been compafed to-

A. A steamroller C. A spacecraft in motion

B. The great highway D. Hedges hamming it

The sea helps a man.

A. - in building great roads

B. inraising the wall on the coast

C. in making journey at his will all around the world.

D. inclearing hedges hemming the sea water. -

T g Aot T MEREEE! T e 9| mmmaﬁmﬁa ?
A. Tearer yR sew, @i T, T TSINveR], JY SRIgt 91l

- B. foumers Rk stew, @iaslt My e, W SRt o1, W TerHuSRy

C. oo YRR ST, 3 SRIgt T, T e i, Feeree Isver!
D. ferier TR S/aU TeEeEe TSINUSR), SaEiAe w99 sEigl o
Inflation YTl & §RFS ?

A, refeTeeH Y Rt HH g1 TCH! a

B. AR §ed 9fE €8 ST g

C. 1S =S FHEA 5o

D. e %4 9fF 8

STy UREATR SR FA R/ 2 ‘ : :

A. iR e T gi=e ferast » B. STCrERIET T STATIgaAT 3R
C. TR UKAHIRT . D. wfaswraEa

AT WAEET TR THE, T el ST SR e :

L ?oiaaﬁmmmmmmmmﬁm@me:mm
I R0%G i UL STFIVAT JFER THT THISA IRTHT TN T4 SHEST &Y Jiowa 31
I R0%5 i TMLF VAT FFER S S1e Tarsgelt T 7 St vo e o |

A. LTI, G& Il Terd ' ; B. [, IIL && Il Tferd

C. LI T T D. I II I & TTerd

The angle between the minute hand and the hour hand of a clock when the time is 4.20, is:
A, 0° B. 10° C. 57 D. .20°

Wbﬁﬁamﬁmﬁnmmﬁawﬁﬁuﬁam%&ﬂmﬁmmuﬁmm
TR ST % IS @ A e TR, dett 2

A. - SfEu- afvem B. ST-ufy=sm - C. cfyw ' D. cfyu-gd

35, §39, YUY VT ST et g e 2 : frefs

A. BYY, %Y, 030 B. 5%, 0%, 5%Y  C. Q9%,935,99%  D. TOY, &Y, O3y
F AGEE T %30 W AT Wl AR H S WiiE q@ee T. 1360 [ A= AR W A S
A I AEETEE X WA AR ST Bt s 2

The percentage profit earned by selling an article for Rs. 1920 is equal to the percentage loss
incurred by selling the saime article for Rs. 1280. At what price should the article be sold to
make 25% profit?

A Rs 2000 B Rs 2200 C Rs 2400 D Data inadeanate
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27.

28.

29.

30.

31.

32.

33.

35.

'36.
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E1 TER g
a.  WTIYS 1. T atews
b HRIYS 2. TR HEE
c. HWRI¥G 3. Jifees stfireERent wEm
d.  HRT4R 4. Fafire Afysr
o T |
A 2 1 4 3
B.. t} 2 4 3
€ 72 3 4 1
D4 3 2 1
@m@mmmw e ?
A. I B. #HRE : C. T D. iy g9
TAH! F S e & e vie 2 : : ‘
A gufsmdgEm .. B, ¥refm@=fafrs
C. =9 it fefies D. fy qmit e fa.
HIT X ATROTeR! TR S 7 W T ® 2 <
A. 9 wYe SO fa. — I fasn B. U 2 9 91 SR FET - @Ret
C. I I S — R st D. i fadft SR — Te fasht T e
A statement that can have a double meaning , : ; :
a. - ambivalent b.  indistinct SRl verbose d. begot
The phrase ""A storm in a tea cup' means ‘ s
a. a big fuss over a small matter b. . astrong wind
c.  violent storm ' © d. highly successful
The Antonym of ""Fallible'
a. * Unerring b. . imperfect : c. frail . d. insubstantial

uﬁﬁhmmﬂaﬂmmmwmmmmmm ......... =

YW WU PR WEia ity oy Rt verg )

A. R AfE B. e fam C. ufm D. ufE@m

;ﬁmmﬁqm M:mmm@th@#ﬁmmw@mwmv ~
2

A, THFYEF die 9EA TF B. ammﬁr%aaﬁsa:

C. wigam=izs . ‘ D. QB AREH S
ﬁmmmm-mﬁmmmﬁmmgs VTR F ?

A. fad. o5 B. fad. 309 Cc. fad. 309 " D. fad. R
PRl & dngaftaa s 2 :

A fefSemam : B. 9¥ER.

b+
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38.

39.

40.

41.

42.

43.

44.
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950 1 e Hieen THEiEH Tl T 2
C A, W B. U™ c. sw - D. @vsA

A B C T3 A1 AU o9, { & safees A 1B ) fo=mn & s safte B T C =l e s, Ak 3
ST SIRE C H1 SIS T Y S SRS A N ISR Wehl B WA Tl S5 <JHad Hid <A Bei, ?

A R0 B. %™ C. Yo > D ¥
BEGKMADFJWISRAPSVY:? )
A. LOQT B. ROUX C. OTuZ’ D. ORUX

A, B T C foriger it Tese B9, R 99 99 femege A ¥fe B v U fiaa w9 fewe A ¥ ¢
wmlmaaaaaﬁﬂAmbuaaﬁmAWCWt eamsﬁAaﬂthcm
T i &9 aFS 2 :

A TRZER B. %.93,%.93 C. . %.9%, F.9¥ D. %.99, T. 93

e e fgwen g et werent -Sroftens 3u 78 2 '

Select a figure from amongst the Answer Flgures which will contmue the same series as
established by the five Problem Figures.

Problem Figures: .. Answer Figures:
A) @)y (O D) (E) nHn @ 6 @ 6
A 1 B. 2 Ny ] D. 4
mmmmﬁmwmm i
N TER
a. faum 1. TS ’
b. gl 2. UsHgeel A ARG
c. WUM 3. JeRes '
d. e a9 4, T .
S a b ¢ d
A 3 1 2
Bivic2 3 QW 14}
Cosid 2 3 4
D. 4 3 2 1
F VAR 7O o, T ISR ¢

A. mmwmwmmma. ‘

B. fafcsdt der! Rem TS SEed YIHETE A |

C. TT! STUTIHRIH! TUHT ZaUsh! SIY0N T+ =e SgaHiel Jardan |

D. faf=sfa sem mda use wfafafis Tom 9 w2

ATA-AIS ISH! HHHT ﬁmmzmmmmmﬁmm
SIS F e /8, ?

A, TE — Toferfde o ' B. - fore — SR fiie

C. AT —> Yo fEE o . D. SgEH — TOANE R
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46.

47.

49,

50.

51.

52.
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e 1 LR 1 fore <ien Reeae :
WY wER -
a. feuasy 1. fosmemes
b. - HEw 2. i
c. HaEw 3. R EE
d. anfagEe 4. qeArEE
#E-a b g d
A. 4 3 1 2
B. 1 2 3 4
C. 22 3 1 - 4
D - 2 3 4 1
The antonym of ''Candid"’ ;
A. meek B. devious C. genial D. inquisitive
Choose the word opposite in meaning to Prolific
A. barren B. reckless C. shallow D. profound
The synonym of Monotonous ’ '
A.  tedious B. varied C. obsolete D. archaic
YA AT TRE! TEARTH AHT TeTehT HEY o T © 2
- A, IR O9, SR . B. Worg d, wifss
C. uieh faamEt 9o D. T X, FEHE!
A YEEHR W TTST STl Weh! SRR T 9l g, ?
A. e WA Hfasw » B. S 9E i
Cc. fessmiah : D. Wi a9
BIMSTEC ! ....... 3t firer Teiier S 096 R ..... 3T ... T 9= @ |

A Y, R,%0 - ' p LA C. %30, D. 3%,
= X 1 R Feeh) SHEE TSl |1 B AT F418 Qe ? :
Choose the box that is similar to the box formed from the given sheet of paper (X).

oS &8 &
N EF L @
3) (4)

00 (1) (2)
A. 1lonly ~ B. - 1and3only C. 1,3and4only D. 1,2,3and4
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T Fh T TS THEN H T A MR IS A ES 2
What is the minimum number of different colours required to paint the given figure such
that no two adjacent regions have the same colour?

54.

55.

-56.

57.

- 58.

A 3 B. 4

- D. 6
wE 1T EE 1 o= i fremsger - -
TS L RR

a.  ITEETE SR S U TS TG 1. 045 BIHE ]
b, AT HAE ATHFER AR TS 2. J0%R

c. AU YT GUR HTHHT T 3. 0YSTSII
d. WITCTHT HIARIER0T ST T34 4. - 0ELTGUR
FE 2 .b c d

A 1 3 2 4

B, 3 3 4 1

G odn 2 3k T g

D. 2 3 4 1

fad. 093 mmmmmmmw@mwwm

TR

A. Administrative Reorganization Commission

B. Administrative Reorganization Planning Commission.

C. Administrative Reform Commission.

- D. Commission for Administrative Reform.

Tien TRIREHIUR I8 FH U SIS &7 ?

A. ST GemER e B. ifit gua

C. Iife wEEa D, i T

! WA =R TR :

1. wrfae! sfusR 2. ST Eaeare] AfUER

3. ST TeTEfaEE AR 4., o T feaey gdarent ifaaR
T Hf A SRR wHa TR Y 2 s P
A 1,2,39F B. 1,2,3,4%9 C. 1,349 D. 2,349

Select the word or phrases that is most similar to insolvent

a.  pauper b. impoverished, C:

bankrupt - d. affluent
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He said to her, " what a pleasant day"’

a.  Hetold her that it was a very pleasant day.

b. He exclaimed that it was a pleasant day.

c. He exclaimed that it is a very pleasant day.

d. He exclaimed that it was a very pleasant day.

They will demolish the entire block tomorrow. .

a.  The entire block would be demolished by them tomorrow.

b.  The entire block will be demolished by them tomorrow.

c.  The entire block may be demolished by them tomorrow.

d. The entire block will have to be demolished by them tomorrow.

et freegeng :

- o= ‘ﬂi(ﬁ)
a. OifNR . 109933
b. WgFE 2. e
c. gt . . 3. 9’03
d. wIEgERT 4.0 ORRY
HS a b ¢ . d
A1 L3NRY CO
B. 1 2 3 4
C. 3 4 , B
) SRS Yot !

mmmmmmwwmmmm
I o Taeedt 3309 A 3@ T ooys e safea )

1. ST e =g v JE v fh fa. T dfaws s

III. - ol 99 35 fersgegaen a8 gaem wde |

Iv. e yevems g, 9 LREH feaem fawsm nfes)

A, LI I && IV Tierd B. LI IV && Il e
C. L ILII IV |3 g& D. I, I, IV & II Terd
Frefire shfeaet aRom -3 g1 2 .

A R SEMER B. Usiramge! famr

C. GHRERSH Fqurom fom D. e w

S et T I BRgRN - :

L A9 T ST faam 9. 9q¥vo ffa.

I 991 T 9Rash! fammr ' 9550 fefa.

L. Sreren Tt femian 3. Yoo fH.

IV. 9T e AeR Y. Rifsfa

A. I-lIIZIII3IV4 B.I2IIZIII3IV4

- ot — R s e, . .. 0 T

l
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mmmmmmmm

=¥ : TG AR
T - FATEER e = TR S S
1998 288 98 3.00 . 234 83
1999 342 112 2.52 325 . 108
2000 324 101 384 416 74
2001 336 ‘ 133 3.68 36.4 88
2002 | 420 142 3.96 49.4 98
65. WIS 9 T g A s R 2 :
A. 32439/ B. 33729 C. 34.18@m@ D. 36.66 @
66. e i At FEES AEEE! B AR Y R RS 2 :
A 01 B. 05 C:71 D. 125
67. -mﬁttcmmﬁaﬁm?mmmmmmmav _
A 62 B. 66 C. 69 D. 71

68. Y 000 H HII! F T H1I S ?
A. Rs.544444¥& B. Rs.501.119M@ C. Rs.44646T& D. Rs.478.87 1@
69. mmmmmwzwmmmmmmmw

A a1 B. 10:13 C. 15:18 D. - 5:8
70. T v T et Eemdl S W 13 R 11 e et fiveré ot R SRR
1. s a.  SF 3% FERE (9RY9)
2. ¥R4 b. TR Siersd (T 9YR)
3. IYAF IS c. Yrh femmn
4. G ERTE IS d. v fearh
e 1 2 8. < 4
A b R d a
B Q b d a
C d a C b
) D a b c d
71. ﬁwmmnﬁﬁawﬁmm@m
I IR SR S {Y,¥0,000 1 HEw W B |

1. maﬁﬁmwmmmé@%co°mamt?o°vﬁaﬁ%@?ﬁio°vﬁawmm
BT 31

[l 3T IAREEE 74 9! 7me o fafems)

IV. ST e o v e e oo s g1

A, LUEAIVIEH : B. L IL IIL, IV §&

~ T YUY FYY v 7YX 7 D . ma e A ine el LY



72.

73.

74.

75.

76.

7.
78,

79.

80.

81.
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mﬁgﬁm{émmmm ......... M 095 AL ....... mﬂ@i’u

A, EIGRETE, 96 B, WML R C.  WieReAwg 9% D, ¥, 95

SR T TG T 9299 T AT Sené ZOPFAN it son 7w ¢ | ZOPFAN #
WHEHA?

A. - Zone of Paciffic and Far East Asian Nations

B. Zone of Peace, Freedom and Neighbour Nations

C. Zone of Peace, Freedom and Neutrality

D. Zone of Peace, Fairness and Neutral Nations

The gambling stall was a grand success because e Pl

A. almost everyone tried their luck B. almost everyone tries his luck.

C. almost everyone tried his luck. D. almost everyone will try his luck.

I agree ............ your proposals but ................. your friends on all issues. .

A. with,to B. to, with C. to.to D. with, with
foavE®q g, 096 W oeveeee O IET T <.oov. TR <rvvereeen TS, TSI TN B |

A, TFE, 3R, Shiafe B. T, ¥-3, I

C. shiafaan, ¥-R, sfesm : D. Y, 3-R, afesad

AT S A G Hieeard SEh o ? f

A. fad. 9’Ry - B. fa#H.9% Cc. fad.923% ~ D. fa@ )RR
gt Rl ST SRS A BT @ (S ? gt

A, IRE=X © B. WeE c. qafew D. HAUMEEAI
et X ) qrir e gt FA A 2 ' '

Choose the correct water image of the given figure (X) from amongst the four alternatives.

® © 0O Q.

- 00 (1) ° (2) (3) (4

A. 1 B:. 2 C. 3 'D.- .4

oo fegu f‘aamﬁ?@faaam IS 2

Select a figure from amongst the Answer Figures which will continue the same series as
established by the five Problem Figures.

Problem Figures: Answer Figures:
F s Av Wt fL 2|2 A V[z V[ V[ V
b oAF tls v o2t vllL 4 onr 4 4 4

(A) B © @O (B m @ 3 @ 6
A1 Bie2, C. .3 D. 5. : '
TS T S S SERTHI B AR T ¥ 5 o R e SR G 3§ Sl 2
Two positions of a dice are shown. When 4 is at the bottom, what number will be on the top?
1 1

NURER)

(i) (i)




82.

83.

85.
86.
87.

88.

89,

90.

91.
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mmﬁmwwmﬁaﬁq ? Find the number of triangles in the given figure.

A 12 B3 C. 14 D. 15

Tegw e Srea T TR TSR g T St e Te SRR

ok T WSt

A 80 70

B 40 . 140 ;

¢ 30 s« wit ] 10 : ;

A0 B. 20- C. 30 - ¥ D. 40

W T e P2 e ‘

A W B. TEM e Engéa . D. =
mmmmmmmﬁﬁ? . _Z v B EE

A. AR B. werRd C: amawf .. D. fysawam
T B B T IO T RE S 2 |

A. %o B e s S -‘fﬁ;? ; & D N
MMWWWMQ?» e ek

A I B. ™, - . C mwﬁam D. AT R URas
By the time we got tickets and entered the cinema theatre .............. : .

a.  the was already begun =~ - .Y b. * thé show has already beaun

c.  the show had already begun = - “ None of the above.

............... the trip to my home was very expensive; I did not go home dixring the holidays;
a. Although . "b.  Since. c. Because ¢+ d. Because of

Which of the following is correct?

a. My teacher wanted to know if I had done the homework or not.

b.  Had the police not arrived in time, the traders would have robbed.

c. He will cenainly help you if you will ask him in a pleasant manner.

d.  The bells of the temple have been ringing since 5 O'clock this morning .

T ST T ! T 39 et oeite TRy 2

Select a suitable figure from the Answer Figures that would replace the question mark (?).

Problem Figures: Answer Figures:
PO ©© ©
@A ® © O Mm@ 3 @ O

A 1 | B, 2 ATRE D. 4




92.

93.

94.

9s.

96.

97.

98.

99.

100.

223

I VT ! WEH! T 2

Pathology, Cardiology, Radiology, Ophthalmology ¥

A. Biology . B. Hematology - C. Zoology D. Geology
- e SoierE [WHeR: Z,S, W, 0,T,K,Q,G,2,? ‘

A. N,C B. N,D C-20.C ~  D.i.0,D

Dry Ice TR DA ? '

A WA AT B. W IRIHA

'C.  3F FEASE TRRS D. 3IEEIE

e ST TaA VUATS A SIS Wi ieSHT SRR New! o 2

A, wifast - B. c. Aw ‘ D. afem

Its time..........

A. the class will start B. the class started

C. theclass had started D. None.

In questions given below out of four alternatives, choose the one which can be substituted for
the given sentence. : ’ :

A person of good understanding knowledge and reasoning power...... A

A. Expert ' B. Intellectual C. Snob - D. - Literate

T F Farel T, T T RSS! Qe SAes ? '

Which of the following diagrams indicates the best relation between Iron, Lead and
Nitrogen ? ’

A Cg B. 80 C. D@D

' Hﬁm@ml

abea _bcaab _ca_bbc_a :
A. ccaa B. bbaa i C. abac z D. abba
TS o YIS AT SUTeh e S 5o, ?

Which one will replace the question mark ?

5|6 |78

3.1 71516

91 4 | 3|7
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Q.No. | Answer ' T Expalnation
Key .
A. 2B |3.B |4D
B. '
B. Sum of -the present ages of husband, wife and child = (27 x 3 + 3 x 3) years =90
years.

Sum of the present ages of wife and chxld (20 x 2 + 5 x 2) years = 50 years.
- Husband's present age = (90 - 50) years = 40 years.

7 A g
B. Let the required number of days be x.

Less persons, More days (Indirect Proportion)
More working hours per day, Less days (Indirect Proportion)

Persons 30 : 39
: : , 12 =%

Working hours/day - 6 :.5

" 30Xx6xx=39x5x12

’ _(39x5x12)

= X=""30x6)

=>x=13 e
9 |[B 10B |11B 2¢ [13a [4p [i154 [16B |17C
18. . |A 198 [20.D 21.A e
22 |B A 13 360 1

Angle traced by hour hand in =~ 3 bs =55 3) = 130°

| . (360

Angle traced by min. hand in 20 min. = 60 =a X20 —]20°

" Required angle = (130 - 120)° = 10°.
23 |A. ' '
24 |A ,
25 |A. Let C.P. be Rs. x.

- «12

Then, 12202 & 100=X—X§Qx 100

= 1920 - x=x- 1280

= 2x = 3200

= x= 1600

*. Required S.P. = 125% of Rs. 1600 =Rs. (IOOX 1600) Rs. 2000 .

26 |A 272D - [8D Ja9c  [30a  [31.A A [33D
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4. |c 35D -[36A [|31B

38 B

39 D

40 D. 5

41 D. The line segment rotates through 90° and moves to the adjacent portion of the
rhombus in an ACW direction in first, third, fifth, ... steps. The other symbol moves '
to the.adjacent portion of the rhombus in an ACW direction and also gets replaced by
a new symbol in second, fourth, sixth,... steps.

42+ c 3D  [44c [asc [a6B  |47a [a8a |a9D  [s0D

51. C »

152 C. When the sheet in fig. (X) is fblded, then one of the faces of the cube formed will be
of the form L2.J and this face will lie opposite the face bearing a square. Also, one of
the blank faces lies opposne another blank face and the third blank face lies opposite
the face bearing an '=' sign. Clearly, all the three blank faces cannot appear adjacent
to each other. So, the cube shown in fig. (2) which has all the three blank faces
adjacent to each other cannot be formed. Hence, oniy the cubes shown in figures A, C
and D can be formed. :

53 A The figure may be labelled as shown. ' ; v
The regions A, C, E and G can have the same colour say celour 1.
The regions B, D, F and H can have the same colour (but different from colour 1) say
colour 2.
The region 1 lies adjacent to each one of the regions A, B C.B,E E.G and H and
therefore it should have a different colour say colour 3.
The regions J, L and N can have the same colour (different from colour 3) say colour
1 .
The regions K, M and O can have the same colour (different fromthe colours 1 and
3). Thus, these regions will have colour 2.
The region P cannot have any of the colours 1 and 2 as it lies adjacent to each
one of the regions J, K, L, M, N and O and sc it wili have colour 3.
The region Q can have any of the colours 1 or 2.
: |Minimum number of colours required is 3. ' s
54 |A 55.B [sep [s72.8  [ssc  [sop JeoB Je1.a [e2.C
63. |D 64.C ' - :
65 D.
66 |C.
67 C




68 A

69 B. : s

70 A 71c |2Aa [B3c [nc [15B  |16B |77B [78B
79 |c. ™ :

180 D. In each step, all the clements move to the adjacent corner (of the square boundary) in
an ACW direction. Also, the elements that reach the lower-right and upper-left
positions get vertically inverted alternately.

31 A : :
82 --1P. The figure may be labelled as shown.
‘ =< c
-~
o : | :
The simplest triangles are ABF, BIC, CIH; GIH, FGE and AFE i.e. 6 in number.
The triangles compoacd of two components each are ABE, AGE, BHF, BCH, CGH
!and BIE i.e. 6.in number.
The triangles composed of three components each are ABH, BCE and CDE i.e. 3 in
number. .
Hence, the total number of triangles in the ﬁgure 6+6+3=15.
View Answer Discuss in Forum Workspace Report
&3 A , : '
{84 |a  |s5B [s6B [87.0 [ssc [s9B |o0D
91 D. The two partially shaded circles rotate through 180°.
92 B. As all terms given in the cjuestion are medical terms and Hematology is also medical

‘ terin. L

93 A. The given sequence is a combination of two series:
1.Z,W,T,Q,?andI1. S, 0,k, G, ?
The pattem in 1 s : z—f—»w—ivriyq—i?@)
Mhattn in mis: 's—8 0 p—Lpg ——‘—;@

9% |C 95Cc . lo6B  |97B

98 B. All these three elements are different from each other

99 .. The se_riés is abc/aabe/aabbc/aabbec/a.

1100 A
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flocen 98 (Set 14).
1L TRENETERS?
A v fra smwifes fraw — fedwr ) , |
B. Jwwifgy et feaw — fedrar 19 >
C. Fifigy gan feaw — a9’ :

D. Tava smrem feag — fedmar R
A mwmwﬁmmmmwm

i B WG G A
a. G090 1. <o aifrem
b.  TAR0%Y 2. . wifse

c. EAR09G 3. e

d. TRON 4. FOR

FE a2 b ¢ d

A £ 2 1 4 3

‘B. 2 1 3 4

c 1 2 3 4

D. 1 2 4 3

3. mmmﬁmﬂ@m
1. ugmmﬁqmwmah“wmwmw@fwu
2, WWWWWMIWWWWWQIWM| ‘
3. 9 T SRafae e TEeR /Y, A 9’4y A7 qew o
4. mmmmmmzmmmmmwm.
IR A AE T S/ B ?
A, 1,23WEEE B, 2,3T4UNESH  C. 1,2,3T4TATE D. 1129 TH
1. TrErTER:
‘. T 903 I MR T AT TEHR e I W W el
@. Radio activity Fi Juras {1 SHIeRiT HIeh T STAE 3 TEHR TG TREH! Ford |
A wReEaeEs B FIRFERE c @WRE = b @w
Juestion no (5- 9) are based on the following passage:

'he assault on the purity of the environment is the price that we pay for many of the bcncﬁts of modern
:chnology. For the advantage of automotive transportation we pay a- price in smog-induced diseases; for
1e powerful effects of new insecticides, we pay a price in dwindling wildlife and disturbances in the
lation of living things and their surroundings; for nuclear power, we risk the biological hazards of
diation. By increasing agricultural production with fertilizers, we worsen water population.
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The highly developed nations of the world are not only the immediate beneficiaries of the good that
technology can do, that are also the first victims of environmental diseases that technology breeds. In the
past, the environmental effects which accompanied technological progress were restricted to'a small ans

- relatively short time. the new hazards neither local nor brief. Modern air pollutions covers vast areas of
continents: Radioactive fallout from the nuclear explosion is worldwide. Radioactive pollutants now on
the earth surface will be found there for generations, and in case of Carbon-14, for thousands of years.

5. The widespread use of insecticides has
A. reduced the number of wild animals :
B.. caused imbalance in the relationship between living beings and their environment
C. eliminated diseases by killing mosquitoes and flies
D. caused biological hazards
6. The passage emphasis that modern technology
A. is an unmixed blessing‘
B. has caused serious hazards to life
C.  has produced powerful chemicals
D. has benefited highly developed nations
7. According to the passage the increasing use of fertilisers is Tesponsible for

.-A. abundance of food B. disturbance in the ecological system
- C. water pollution : : D. increase in diseases 4
8. The harmful effects of modern technology are )
A. widespread but short-lived . B. widespread and long-lasting
C. limited and long-lasting - D. severe but short-lived

9, Radioactive pollutants
are limited in their effect
will infect the atmosphere for thousands of years
will be on the surface of earth for a very long time -
.- will dissipate in short span of time :
10.  FREH T WLEEH! THAT YARANST UL HA R 2 K2
A. Wit . B. frfafra C. wri™ D. FME
11. T g @ faar e : ‘
1. e 14 fedrag 1955 H1 T T HEh! T HIel T |
2. - AT FANT I T W TR SR W W TS AR |
A 12zafss B. 1fo%23fes c. 2fF 1= D. 132 ga3fd®
12. e 3 foeea e el SR wRA e R 2 Eh Oy

oCaow»

- A Ta¥.95v% B. fad.9545s - € fad 9 D. fad 9’39
13. el SEwE ¥, 093 STUR GO 1 S T S 2
A, wAgsTH - ¥ RE SUgraeh e dsft ;
B. wmisEm ~ Y T EE S AR 90 FIS SHIRRH R goft wusht
C.  Hwiensam - 90 FUT TIIRAG R0 FUIE SFAEHT o it yeah!
D.

FEIET -y FASE e o gt o




14.

15.

16

17.

T feet e, wzm@ﬂaéﬁmml

The dlagram given below represents those students who play Cricket, Football and Kabaddl

Kabaddi
P Q R
i e Sl b
Football | ¥
Cncket

mmmw ﬁ@mﬁﬁﬁmﬁwmn

Study the diagram and identify the students who play all the three games.
B. V+T

A. P+Q+R

C.

S+T+V

Questlon How much was the total sale of the company ?

Statements:

The company sold 8000 units of product A each costing Rs. 25.
This company has no other product line.

A. 1 alone is sufficient while IIl alone is not sufficient
B. 1I alone is sufficient while | alone is not sufficient
C. Either I or II is sufficient

. D. BothlI and II are sufficient

P PP

€))

e ot (X) o g0 T farehes) T SRR |
“Identify the ﬁgure that complietes the pattern.
..
(:asﬁ
7
X) (1)
A 1 ; g -2

C.

3)-

3

gt RrereaesaTe SUg e o0 S T AR T4 e |

Select a suitable figure from the four alternatives that would complete the figure matrix.

A ¥ B

A

@]

)

AlA

(1)
2

(2)

(3) (4
: C

3

[

4

D.

D.

S

4
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19. .

20.

21.

22.

23.

- 24.
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i v TR O S ¥R 2

A, TH B. 39 C. oA . . D. U@F
AT RIS T WIS I SRR S D/ & ? . _
A. e freea o @en dWET B. wfie Td Wi T

C. T3 Ivfee & U SSRaid T D. w99

ST X SR S S Aer! SRe R e |

1. 9O T STIAfTE 6 9/4% TR I6 HT. e T TR R a |
2. RN SRRV T Ufecl Aigel STaFET S g E1 ‘
3. ST AETER! TSTGATETSE] SO T 9&4 7 YU R |

4. UTET HTEE ST FeErt fE SEw JAICA) R )
TF A WE TS/ B ?

A 1,2339H B. 2,349 C. 1,2,334%9 D. 1,249
e TR i S T e e |

il YRPT U] S

a. HRIY 1. TR R TEH! 3%

b. ®WR 2. WOy

c. Y3 3. 329

d. umY 4. fagma

e 2 b < d

A. 4 3 1 2

B:* 3 4 1 2
. 3 4 2 1

D. 4 -3 2 1

RIS THAEEH! AT T TS o WD ?

A.  Ornithology B. Taxology C. Orology D. Secenegraphy '

From the given alternatives, choose the one which best expresses the given sentence in Direct
speech. :

She said that her brother was 'getting married.
A.  She said, "Her brother is getting married."
B.  She told, "Her brother is getting married.”
C.  She said, "My brother is getting married.”
D:. She said, "My brother was getting married."

Pick out the best one which can complete incomplete stem correctly and meaningfully
Although, he is reputed for making very candid statements ......

A.  his today speech was not fairly audible -

B.  his promises had always been realistic

C.  his speech was very interesting

D. his today's statements were very ambiguous




25.

26.

27.

28.

29.

30.

31.

1232

In question below a sentence broken into five parts. Join these parts to make a meaningful

sentence. The correct order of parts is the answer.

1. of 2. we 3. heard 4. him 5. had

A 4235 B. 52341 C. 25341 D. 25314

1 T R waTor Sea et SRa R TR -

1. I NEREWCEEN 2. GoeTE UK EEEE T Y6

3. o EsEf yEm 4. FERINIEITEIE SIS I

TR TR TR S /B 2 '

A 1,23396 B. 2,3W47W C. 3,4719H D. 1,2,374%
mmmmm@wa/a? :

A. vaEa fam : B. dffes gam! frem

C. o 10 YER fam D. #fgH aa ‘

TR AN TS ? :

A.  YHTS SHEH A T — foems B. TSR USHA G T — RIET

C. SNl A9 TH T — TS D. YH NG AN T — wIEITm
TETHT W RH! ara foem e : ' .

1. Tere ouse Tt gfs TR eS| 2. Tewie AETETR FH TR TS |

3. fuaﬁwﬁahﬁmwsﬁmm‘a 4. HHATH NfETH FH WTH T |
mamma/a ? . ’

A. 1,233TF B. 2,3347°H C. 247190 D. 1,2,334%9

ﬁﬁxm T SHIET T TR 9,3,3 A1 ¥ 7ol 5 oy o s, o emieaera |

Find out which of the figures (1), (2), (3) and (4) can be formed from the pieces given in figure

(2)

X

A.

et

i

(x)
1

5.2

C.

3 )
3

mmwmmmwﬁmmﬁwmz

Group the given figures into three classes using each figure only once.

A.
~

1,5,8;2,6,7;3,4,9

. s:- i%Lc(D »@l
“BO-C<Dle
-OHQ;

3T YO B N ol

B. .

1,5,7:2,6,8;34,5

4 £2 OO "N 77 & S A

D.

4



32.

33.

35¢

36.

2] | Sdd|
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o X o aoren ol g foeeue QU TS ?
Identify the figure that completes the pattern.

"ok g

(X) (@Y) (3) .
A 1 B. 2 c. 3 D, .4
o= xmmmwm@mu

Choose the correct mirror image of the given figure (X) from.ainongst_ the four alternatives.

X) (6] 2 3 @
A 1 B. 2 - C. 3 D. 4
TR WA ToreR e -

) a.mm%mmﬁ&ﬁﬁﬁwm{

2. Tl GHIEHAR IS A9Tesh! Primates fae g1
3. Sl g agun Taeh! s=ere e gl
4. wfem ife Furers gaeafafag g1

T G Y W B/ B 2

A 1,2,3 9= B. 2,349 @ WC. 13499 D. 3214@
WQ&GWWRWRE&HWWIWWWWW
e 1 ‘H‘[ﬁ

a. ﬁg’ﬁ‘faﬁfsrﬁmnﬁqﬁan 1. 3%.¥y gfoem

b. fafise v T wRER 2. e3¢ WiwwE

c. WEEd B T T 9RER 3. .83 yfew

d. wfeen aRargel W @R 4. ¥Ry Wfavm

E a b c d
A 2 1 3 4

B. 2 1 4 3

& 1 22 3 4

D. 4 3 fo: o

TP B S TGS 2
mmmemmm
e foge AN S waRer — wive

TIE R §aeed — 9Eq |

7 0w >
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37, TR 1 TR 11 & Siret e reee 98 3w s T :

- e . ER
a. . WA Ufee T WU SN & 1. Sy A &
b.  TANTI I ATHAH B! A & 2.y i &
c. WA FH AAGAH hiTwH! AR & 3. g Sl &
d. WA= Uf T ! i A 4. T AR R S &
T 2 b < d
A. 1 3 2 4
B. o 3 4 2
C- 1 2 3 -4,
D..w ¢ I 4 -3 2.
38. - Man does not live by ...... alone.
A. food B. bread C. meals : D. diet
39.  Piyush behaves strangely at times and, therefore, nobody gets ...... with him.
A. about ‘ B. through C. along D. up

40. In the following questions four alternatives are given for the phrase jtalicised and underlined
in the sentence. Choose the alternative which best expresses the meaning of phrase.

1 met him after a long time, but he gave me the cold shoulder.

- - A. scoldéd me B. insultedme . =~ C. abusedme - D. ignored me
41. ) TN el GEaw A e freegend - '
wEl wEIl
a. UreEE 1. afem
b. W™ 2. 3=
c. TRV 3. 3=
d. =&eR 4. RS
S a b ¢ d
A, 1 28Q° 4
B: -1,2WRY 3
C. W3 4.1
D. 4% 4 3 2
42. w1 TEE 1 e e feread :
Tl - wE I
a. HEE AT 90-Y TREA 1. IS IR
b. T A TeRsA 2.  dRIEER
c. vfERfEfe 3. T IMR
d. faatfed : 4. fpemR
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e a b < d

A 3 1 4 2

B. 4 1 2 3

€. -1 2 3 4

D. 4 .3 o, el
43.  ToRER e Tl g 2 . :

A yEAfdewE B, T Im C. TR gE D. fafsm fuz
44. TSRO SR AR “ETEA FRE” T AR 3 T 2 .

A. ST B. g% ~ C. dadfemyd D %A
45. Tofshmmim st s germ 57 e a2

A. 3IHI - = .

B. WRRUESTHS - I3 I TeueE g geifue R

C. weHfeRr - T e T v Yete T s wiivet

D. WU it wE R e el

TRt Y e g R X THEA Y 1 9%R8 R 2009 TR A1 WRNE 2@ B )

The following line graph gives the percent profit earned by two Companies X and Y duting the
period 1996 - 2001. ' '

Percentage profit earned by Two Companies X and Y over the Given Years
Income — Expenditure

%Profit = x 100

Expenditure

3
=
e
g
a
20 = PSSRV | SRR
10 -
0 - : : s e - —
1996 : 1997 1968 ¢ 1999 2000 2001
Years ' —e X Y

46, TN X TFE Y FY 000 SRR ¥ F SIS B 1 Reefreesnt 000 Y @R I T
L : _ : 4

The incomes of two Companies X and Y in 2000 were in the ratio of 3:4 respectively. What
was the respective ratio of their expenditures in 2000 ?

A 722 B. 14:19 - G 15:22 D= 27:35





